Table 1.

Groups M2e coating (1gG titre) (endpoint)

G1: stM2e 8000. 8000. 8000. 4000. 4000. 4000.
G2: tM2e VLP 64000. | 64000. 32000. 32000. 32000. 64000.
G3: tM2el/tFlic VLP 128000 | 128000 128000. 64000. 64000. 64000.
G4: tM2e VLP+tFlic 128000 | 128000 64000. 128000. 64000. 128000.
VLP . .

G5: tM2e VLP+sFlic 64000. | 64000. 64000. 32000. 32000. 16000.
G6: sFlic 500. 500. 500. 500. 500. 500.
Table 2.

Groups M2e coating (IgGL1 titre) (endpoint)

G1: stM2e 2000. 1000. 2000. 2000. 2000. 2000.
G2: tM2e VLP 64000. 64000. 32000. 32000. 32000. 32000.
G3: tM2e/tFlic VLP 64000. | 128000. | 128000. 64000. 64000. 64000.
G4: tM2e VLP+tFlic 128000. 64000. 64000. 64000. 64000. 64000.
VLP

G5: tM2e VLP+sFlic 64000. 64000. 64000. 32000. 32000. 32000.
G6: sFlic 500. 500. 500. 500. 500. 500.
Table 3.

Groups M2e coating (IgG2a titre) (endpoint)

G1: stM2e 500. 1000. 1000. 1000. 1000. 1000.
G2: tM2e VLP 64000. 64000. 16000. 64000. 32000. 32000.
G3: tM2e/tFlic VLP 64000. | 128000. 64000. | 128000. | 128000. 64000.
G4: tM2e VLP+tFlic 64000. | 128000. | 128000. | 128000. 64000. | 128000.
VLP

G5: tM2e VLP+sFlic 32000. 64000. 64000. 64000. 64000. 16000.
G6: sFlic 500. 500. 500. 500. 500. 500.
Table 4.

Groups M2 coating (IgG2a titre) (endpoint)

G1: stM2e 1000. 2000. 2000. 2000. 2000. 4000.
G2: tM2e VLP 32000. 32000. 32000. 32000. 32000. 16000.
G3: tM2e/tFlic VLP 64000. 64000. | 128000. 64000. 64000. 32000.
G4: tM2e VLP+tFlic 64000. 64000. 64000. 64000. 64000. | 128000.
VLP

G5: tM2e VLP+sFlic 32000. 32000. 16000. 16000. 32000. 32000.
G6: sFlic 500. 500. 500. 500. 500. 500.




Table 5.

Groups P value (1gG) (M2e coating )(two tailed t-test)
G2vsG3 | 0.0133

G2vs G4 | 0.0033

G2vsG5 | 0.8174

Table 6.

Groups P value (IgG1) (M2e coating )(two tailed t-test)
G2vsG3 | 0.0179

G2vs G4 | 0.0296

G2vs G5 | 0.5995

Table 7.

Groups P value (1gG2a) (M2e coating )(two tailed t-test)
G2vs G3 0.0127

G2vsG4 | 0.0034

G2vsG5 | 0.6732

Table 8.

Groups P value (1gG2a) (M2 coating )(two tailed t-test)
G2vsG3 | 0.0123

G2vs G4 | 0.0021

G2vs G5 | 0.5490




